@YREV-ASHELF

INSTALLATION INSTRUCTIONS

SPSP SOFT-CLOSE BLIND CORNER ORGANIZER

[E————
TOOLS REQUIRED:

:
D
(+2)

FITTING PARTS LIST:

PANEL PARTS LIST:
ESTIMATED ASSEMBLY TIME:

Description QTY Description QTY

45 M I N A Base 1 Handles 2
B Frame M4x10 mm flat-headed screws 2
C Feet M6x10 mm wafer head screw 8

CARE AND MAINTENANCE:
D Guide Channel M5x6 mm flat head screws 8

Clean with a damp cloth and
wipe parts dry. E Baskets 4G x18 mm pan head screws 19
M4 x 4.5 mm pan head screws 2
A.

INSTALLATION OPTIONS

5PSPSC-15 (15" Opening) page 2
left handed door

5PSPSC-15 (15" Opening) page 5
right handed door

INSTALLATION INSTRUCTIONS: 5PSP SOFT-CLOSE BLIND CORNER ORGANIZER

|-5PSP-900-0518



sezer - SPSP-15 (LEFT HANDED DOOR OPENING)

Unscrew the M4 x 4.5 mm Pan e
Head Screws from the bottom
of the shelf. Choose the
desired color by flipping the
shelf. Install the bottom shelf
back by screwing the M4 x 4.5
mm Pan Head Screws back
into the unit (See Figure A).

D

STEP 1 Fig. B
Mount Base (Fig. B). : D BLIND ==
€
fl g IS
O
&
€
£
3
305 mm To front of cabinet

From door opening

STEP 2

Use (19) of the 4G x 18 mm
pan head wood screws to
secure the base to the bottom
of the cabinet (See Fig C-1).

Fig. C-2

Guide Channel

Note: Pre-drilling the screws
is recommended.

Install the guide channel on the
base of the unit by securing

it with (2) of the M5 x 6 mm
flat head screws. If the guide
channel is installed incorrectly,
the unit will not open correctly.
(See Fig C-2).




STEP 3

Install the handles onto the
frame using (2) of the M4 x
10 mm Flat head screws (See
Figure D).

STEP 4

Attach the two feet to the
frame using (8) of the M6 x 10
mm wafer head screws. Each
foot will use (4) screws. (See
Fig E).

Fig. D

Fig. E




STEP 5

Secure the assembled frame to
the base inside of the cabinet

Fig.

by using (6) of the M5 x 6 mm

flat head screws. Make sure

to follow the placement on

Figure F.

STEP 6
Attach the (4) baskets onto the

unit (See Figure G).

N

A

A

\

™S

0




Blind Portion
of Cabinet

5PSP-15 (RIGHT HANDED DOOR OPENING)
SHELF FOR THE UNIT —

Unscrew the M4 x 4.5 mm Pan
Head Screws from the bottom
of the shelf. Choose the
desired color by flipping the
shelf. Install the bottom shelf
back by screwing the M4 x 4.5
mm Pan Head Screws back
into the unit (See Figure A).

STEP 1 Fig. B
[ ° ° ]

Mount Base (Fig. B). = BLIND
Note: If installing into a face 0 n
frame cabinet, base must be £ i
flush with the opening. P

£ i I

3

- —

To front of cabinet 305 mm

From door opening

STEP 2

Use (19) of the 4G x 18 mm
pan head wood screws to
secure the base to the bottom
of the cabinet (See Fig C-1). Guide Channel

Note: Pre-drilling the screws
is recommended.

Install the guide channel on the
base of the unit by securing

it with (2) of the M5 x 6 mm
flat head screws. If the guide
channel is installed incorrectly,
the unit will not open correctly.
(See Fig C-2).




STEP 3

Install the handles onto the Fig. D
frame using (2) of the M4 x
10 mm Flat head screws (See
Figure D).

STEP 4 Fig. E

Attach the two feet to the
frame using (8) of the M6 x 10
mm wafer head screws. Each
foot will use (4) screws. (See
Fig E).




STEP 5

Secure the assembled frame to
the base inside of the cabinet

Fig. F

of the M5 x 6 mm
flat head screws. Make sure

by using (6)

to follow the placement on

Figure F.

Fig. G

/)
/)
[/

{7

/ /
/
y
/
/
/ 4
/
\\
\\
/)
\\
\
/) 4
/
Y,

\\
/X

[0)
=
=)
(o]
o
C
(o]
@
o
0. Y
(11}
= 2
Y B
Q
=
=]
J=
(S}
©
h =]
b

=
(V)
g
5
2
ic
o
o
2
=
(S
=

¢ .,

/
\%\\\




\\\\\\

-A-SHELF

@YREV



